Level 4 Review - Summer packet

1.
13 days 12 hours + 9 days 17 hours 13 gallons 15 pints — 5 gallons 2 pints
2. |Length =7 cm Length = 5.16 cm
Width = 5 :Cm Width = 4 em
Perimeter = __ _ _ _ Perimeter =
Area = _ — Area = ——
3.
300 + 1100 132.98 + 100
132.98 + 10
9000 — 212 oo
132.98 * 10
6000 — 550 ' -
32,98 + 100
4000 — 1150 ,
32.98 * 100

L4 Review / Pf_\ @

1 Anagha Chaliparambil - anaghasmath.com Level 4 Review - Summer packet



Solve ( Add/ subtract / multiply)

(A) (b) (C)
43.99 +13.8 65.02 * 9 87.05+ 8

(d) (&) (£
20 — 11.5 33.109 — 25.13

45.34 - 14.61

b)

¢)

Compare (> <=}

0.03

3,0

254.0

0.255

610.1' 6.101
3.167‘ | 316.7

131 ladies are going for shopping. A
taxi can carry 5 ladies. How many taxis
do they need?

Level b/Review Pg
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Sara has $100. She spends $57.80 on 1 ,

groceries and $6.90 on taxes. How On Sunday, -5—;- of a mall’s shops were

much money is left with her after closed. |2 shops showed open at mall.
she is done with her groceries? How many shops does the mall have?

Paul bought 3 cheap and 2 expensive | Write roman numerals for

mobile phones. The cheap mobile
phone cost $ 11.00 each and an
expensive mobile phone was three 213
times the cost of the cheap one. What
was his total cost?
89
39
49
Circle the smallest fraction How many triangles are there in the
figure

Q) 2 :;51' “2—‘)‘“ \ \

b) L | £ | <
5 2 {o

Pg@
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9 Write in expanded form as fractions
34.098
Q)
6.023
10 | Solve using a number line
Q) b) c) a)
-2-3= ~5+7= ~-84+7= ~7+2=
AN I N NS NN NN NN NN TN NN NN N NUUNY NN JNNNN NN S NN NN N S
| S [ R R D R TR S E RN N B SR S DN S N R B R R R
“11-10-9 -8-7-6-5-4 -3-2-1 0 1 2 3 4 5 6 7 8 9 1011
11
o) b ¢)
346 245 108
* 0.03 *0.04 * 0.05
12 | Write the corresponding numerals
nine million, five hundred five thousand, nine
o hundred thirty
seven hundred nine thousand, four hundred two.
b)

P
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13 | Arrange the decimals in ascending order
0.12 2.9 0.60 17 0.04 3.078
0)
5.06 6.05 56 0.056 65.0 5.6
b)
14 Complete the sequence
0) |12 21 34 43 61 16 98
b) 106 116 126 136 146
15 | Express the following as Fractions
o) (b)Y <) (@
13.89 7.77 7.07 7.007
16 | Express the following as decimals
) (\\')) c) (‘d)
3875 3875 3875 3815
10 100 10 100

93@
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17 | Divide up to 2 decimal places Divide up to 2 decimal places

4)  40.92 3) 22.74

Q= Q=

18 An empty 3 liter can is filled with 1 | What is the sum of 45,980 and
liters 250 milliliters of cold water 27,1017

and 700 milliliters of warm water. '
How much space is left in the can?

Hink ¢ 1 liter = 1000 m|

| fg
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19

>
m

a0

50

2’4

B (o]
L. ABRC =120

L ABD =

A television program had an
advertisement for 4 minutes 33
seconds. How Idng was the
advertisement for in seconds?

20 | Of the following numbers in which
number does the digit 3 have the
smallest place value

e 3547

e 95732
e 103795
e 5473

If 50,005 is divided by 10, what will be
the guotient?

21 | The sum of the ages of Rohan, Ravi

and Raj Kumar is 35 years. If Rohan is
13 years old and Raj Kumar is 4 years
younger than Rohan, how cld is Ravi?

How many quarters can be exchanged
for a total amount of $ 3.75?

@

7 Anagha Chaliparambil — anaghasmath.com Level 4 Review - Summer packet




22

Hint : one foot=__ inches oneyard=______ feet
LQ) (b)

7 feet 20 inches — 2 feet 2 inches 6 yards 13 feet — 2 yards 7 feet

23

Name the following shapes

/

24

Marl the times on the clock

Quarter to 7T half past 9

Pg
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25 | find the unknown

8 2
A7 77 =
Radius Diameter
7 2 3
h— + — — — =
5.6 cm . | 14 14 14
a)
7.08 cm
b) 6)16 n 11 . 7 -
¢ 13.4 cm 15 15 15

26 |If 2024 was a leap year, which year
will be the 4" [eap year from 2024?

lC = LP=

27 L‘_ 3 (qu) o 3 -0 What is the sum of smallest and the

largest number formed by the digits
0, 8, 5, 3 using all the digits only
once

I 9 Anagha Chaliparambil — anaghasmath.com Level 4 Review - Summer packet



28

)

(b)

(<)

/7x + 9y

17x + 40y

+ 10x — 8y |+ 3x — 18y

13a 4+ 12 b
+ 5a — 6b

29

b)

A number is choosen at
random from 20 and 40. What
is the probability that it will
be a mulitple of 37

A number is choosen at
random from 0 to 20. What is
the probability that it will be
a mulitple of 47

A number is choosen at
random from 60 and 70. What
is the probability that it an
even number?

A number is choosen at
random from 1 to 10 . What
is the probability that it will
be a factor of 207

30

Write down all the factors of -

(e}

100

31

How many

Edges

Vertices

faces

Edges

Vertices

faces

103
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How many Fill « » =
Numbélr of axis B
Shape of symmetry 2.42 2.48
Square 11.08 ) 1.008
Rhombus 6 | ' | 4.90
Oval 12.89 | | 15.9

33

Write down all the prime numbers
between 10 and 50

What is the largest counting number
less than 879 divisible by 57

34
Q)
b)
)

d)

Write two equivalent fractions for

il o W

N

Convert into grams( g}

1000 milligrams = ___.____ grams

4000 miiiigrams = .grams
7000 millligra ms:’;: ____;____ grams
«.35'00 m‘illigrams-(‘: ___.1.,;_____ grams
.6500 milligrams = __ grams

Py @
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35

Represent the following fractions as pictures

() (b ©
1 1 2
v
7
2,
//% %
36 | Classify as acute, Obtuse or right angled triangles
o) ¢ A c) A
Q0
o 8
B
37 | Classify as scalene, obtuse or isosceles triangles
200
H T o
5 _ 5¢ 2. 2 em
Crn 3 Sem
3om 2.¢v

Ry (12)
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38 | Find Mode, Range and Median
o) 95, 85, 95, 95, 85, 95, 86, 86, 95
Range =~ ______
Median= _________
Mode = —
b) 20, 21, 18, 16, 19, 20, 17, 20, 20
Range= _________
Median= ___
Mode = .
39 | Draw stem and leaf graph for. :
' 83 83 98 | .78 | 717 99 83 63 80
92 | 90 80 80 96 85 86 |- 70 87
Stem Leaf ~
40 | Express as a decimal , . L
LQ) (b) ©)
430% 5 % 14 %
_ 430,
T 100
- [3.30 {

Lot

p (1
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41 | State if congruent / similar

() (b

(e)>

7
C C

Congruent - Yes / No |[Congruent - Yes / No

Congruent - Yes / No

Similar - Yes / No Similar - Yes [/ No Similar - Yes / No
42 | Find the perimeter
(o (b )

Yo G CT”

cm

Ecm

43 | Order of operations

Use PEMDAS

35+ (45+9) ~ (6x2)

(A—2)+3%X6 -8+ 2

py @)
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44 | have 3.notes of $20 each, 6 notes of $ Round off to the hundred’s place
5 each and 5 notes of $ 1 each. How ' o
1 many dollars do | have-in all? R
2,345,428 =
3,980,419 ~
145,083 =
45 The wool from one sheep can be used to | What time is 5 hour 45 minutes
1 after 3:30 pm?
) make 2 '2' coats. How many coats can be
made from the woo! from & sheep?
46 What do | get if | multiply 7 by 12 and If there are one farmer, 8 chicken
then divide the result by 2 and 5 cows on a field. How many

feet are there in all on the field?

Ry (&
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Y 1 (Bx323)+(3%x333) = (2434445 +6 =
ax( 2 ) 2% 3XGUS %G + [

U ¢

v pXe)

€6

—

.g 3"‘5

J T

48 What is the sum of the digits in the What number is 20 fess than the
number: Thirty thousand five hundred sum of 950 and 88Q7
two

49 12 tens + 16 ones = 1 hundred + how j0f XIOX 1RO XxX1X10X10] =
many ones? {010 % E

50 Alltogether 7 pentagons have how many | Alltogether 3 rectangles have how
sides? many diagonalis?

Pg (9
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51

789.563 + 100

a)
[ *1
b) 789,563 00
C.) 789.563 + 10
d) 789.563 * 10
¢) 789.563 + 1000
‘F) 789,563 * 1000
52 Draw stem and le\af graph for ~
43 |52 |6t |40 |52 |61 | e6 |53 |50
4o |45 |52 |66 |67 |53 |52 |40 | 473
Stem Leaf
53 Find Mode, Range and Median
: Range= __ _ _
28 |43 | 43 |52 |35 |62
Median=_________
G| 230 |35 | 42| BO
Mode=______ .. __
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54

Express as a decimal

389%

73 %

9%

5000%

35%

143%

55 Divide up to 2 decimal places Divide up to 2 decimal places
5) 21,3 q) 53.01
A
Q= Q=
56 Find the sum of the follwing nubmers

35.12 + 4.52

5.2—-3.72

5.45 +13.9

Pﬁ
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Circle the largest fraction

57 Round off to the hundred’s place
Given number Rounded off
13 1 |8
39,19 8 9 9 i
40,6899
G, 407 U S S
5 550 {1 15 | 3
58 State if congruent / similar
/
/ & 5cm
8C.
Congruent - Yes / No |Congruent - Yes / No |Congruent - Yes / No
Similar - Yes / No Similar - Yes /[ No Similar - Yes [/ No
59 Express the following as Fractions
17.3 2.089 2.98 14.7
60 Express the following as decimals
145 3 95 3094
10 100 10 100
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61

Write in expanded form as fractions

6.108

b)

304.57

62 Write in expanded form as decimals
6.108
a)
304.57
b) i
63
1gallon=_______ pints 1gallon=____ cups
3 gallons 5 pints + 7gallons 13 pints | 7 gallons 30 cups — 5 gallons 7 cups
64 Solve using a number line

Q) (o) C) ()
—4 -3 = ~11+6= ~2-3-1= 0+5-7=
-ttt -+
—1T1 - 10-9 -8 -7 8 5 s = 2 -1 e =z 2 4 = & ra S 9 1011

PS
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65

o) b) )
256 524 897
* 0.03 * 0.04 . * 0+2
58 o Py
3154 . 1009 7095
* 0,02 * 0603 * 0.2
66 Find the difference of the follwing numbers
23.12 — 4.562 5.017 — 2.572 11.11 — 9.9
° (o) () @
4x + 6y 1x + 3y 2a +13b
+ 10x — vy |+ 9x — y |+ 1a-— 2b

Hint [3 = 1:']

R @)
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) ) ©
68
A, NN
A P 5.7cm S >>
@ -J L“
80
° o]
70 - 70 .~
B"— c & , R B . "> C
0 PERS is Reclandt ™ naged isa Paraliglogram
®
- B O
LC= QR = Cm Z_ A =
69 Write-down all the factors of
50 7 2.
70 Find Mode, Range and Median
33, 45, 40, 23, 42, 32, 33
Range = __
Median=___
Mode=__ .
71 How many seconds
o ‘9 minutes
b) 5 minutes
c) 10 minutes
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72 Find the distance between the centers of the two circles
Radii of the two circles are 14 cm Diameters of the two circles are 12
and 18 cm cmand 17 cm
73 A family bought 2 and a quarter liter of milk each day. How much milk did they
get in the month of
January ' June
74 Find the width of a rectangle if
Perimeter = 50 ¢m Perimeter = 9.6 cm
Length = 20 cm Length = 3.7 cm
75 i seventy thousand - twenty two thousand one hundred fifty five +
a)
five hundred and seven tens =
Nine thousand + eighty two thousand one hundred seventy —
b)

five hundred and five ones
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76 Write down all the 2 digit prime numbers

77 What is the perimeter of an equilateral triangle if its each side is
1.28 ¢cm 1.09 c¢m

78 Fifl in the blanks

a) The place value of 3in 724 153\ is
b) The place value of 5 in 72| 5 3-is

c) The place value of 7 in 72e{5 3 is

dy lton=______ pounds
14 2 3

% T8 Tw T —

f) Two- thirdsof60is ____

g) one foot=_____ inches

h} Three feet=__ inches

§ 24 Anagha Chaliparambil - anaghasmath.com
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79 Convert into meters { Hint: 1 kilometer = 1000 meters)

3 kilometers 4.25 kilometers
2.5 kilometers 7.85 kilometers
80 Name and draw the three different Name and draw any three different

types of triangles based on the lengths types of Quadrilaterals
of their sides

81 Prime Factorize: 90 o Find the Volume of a box if
I: length is 3cm
w: width is 4em
h: height is 4cm

Volume=___ cubic cm

Blbl {42434 4+5+6+ 1

n)

=+22+33+44+55+66+T7
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82 | Multiply Multiply
2075 3,278
* 83 * 53
83
o) 3.897 x 10 = &) 4252.2 +~ 10 =
b) 3.897 + 100 = ﬂ) 4252.2 + 100 =
c) 3.897 x 1000 = s) 4252.2 + 1000 =
d) 356.7 x 10 = h} 4252.2 +~ 10 =
84 Draw stem and leaf graph for
45 43 43 52 54 65 55 56 48 58 45 50
Stem Leaf

85

‘What probability?

A number is choosen at
random from 30 to 50. What
is the probability that it wifl
be divisible by 4

A number is choosen at
random from 15 to 30.
What is the probability that
it will be a prime number?
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Find the perimeter of the Regular Pentagon | What are the next three numbers in
if each side is 1.8 cm the pattern:

72,36,18, ___, ___, ___

What is the difference of the two missing Andy is counting backwards by threes.
terms of this sequence: The first number he says is 80. What is
the sixth number Andy will say?

516 (6 |7 (7 |7

Complete the seguence

18 19 21 24 28

bY| 900 860 820 780

Wilson’s mom gave him $100 to buy his soccer supplies. He spent $ 45.09 on soccer
shoes, $ 24.50 on a ball and $ 16.75 on his clothes. How much money, in dollars, is
left after his shopping?
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aQ Solve
12.177+04 39.08 — 16.198 14. 0‘58 +2.78
91
a) The smallest counting number is _ -
b) 9 pints make — cups
c} 10 pints make ____________ cups
d} Was the year 1990 a leap year? —
e) Will the year 2030 be a leap year? _ o
f) A triangle with no sides equal is called __ Triangle,
g} The smallest 4 digit number formed be using the digits 6, 9, 0, 2only
once is _
g2 What is the perimeter of a regular heptagon with side fength of three and half

centimeters?

Hint Hept‘:ason

1S a, quadnlalral with Sever

Sides
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93

12, 10, 9, 2, 10, 5, 7, 10, 8, 12, 3

94 State if congruent / similar
13) () (c)
- < Y
Congruent Yes /No Congruent Yes / No | Congruent Yes / No
Similar Yes / No Similar Yes / No | Similar Yes / No
95 A grandmother distributed $ 132 among Anna, Michael and Drew equally. How
much money does each one get?
96 A grandmother distributed $ 1000 among 5 children. How much money will

each child get?

Py 9)
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97 |Whatis the circumference of a What is the circumference of a circle of
circle of radius 10 cm? radius 5 cm?

Cirucumference = m+* diameter Cirucumference = m*diameter
D tameter= 20 Cm
= T X20

20 com

qg if the space station Is 54,300 miles What is the units or ones place of 165
from the earth, how long, in hours, |times 143

would it take to get there if you
travel at 300 miles per hour?

qq What are the missing numbers in Write down the decimal equivalent to the
the pattern: given fraction

2510, 2520, ___ ., ., 2550 Fraction Equivalent Decima!

703
10
58
10
7
10

{00 | Maria has 6 boxes that each can hold 45 books. She has 10shelves of books that
she needs to pack in boxes. Each shelf holds 32 books, How many books will fit
in 6 boxes? How many books will be left over?

A)

oy 6o
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lo{ |Rahul has 19 quarters, 8 nickels and | Find the Diameter of a circle if Radius is
22 dimes. How much money does he _ .
have in all in dollars? Radius Diameter
5.8 m
4,05 m
13. 03 m
102 Answey
) 214+214+21=41+41+41- 7727
o) 11+22-334+44=1+2-3+4+ 7222
) 50+ 200+ 150=7777+50
C

Linda has 59 hair clips. She gave 11 of
them to her sister Lina and then
distrubed the rest among 5 of her

193 | \which preduck 15 odd

OJ x99 friends equally. What is the most
number of hair clips each friend will
b) 44X%33 get?
) 55X2 2
d) 88%66
fo4. | If the radius of a circle is 45 cm, if the radius of a circle is 16 cm, what is
what is the diameter of the circle? the diameter of the circle?

Py (3D
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15

If the diameter of a circle is 45 ¢m,
what is the radius of the circle?

[f the diameter of a circle is 16 ¢cm, what
is the radius of the circle?

104 How many feet?
One yard = 2.5 yards =
5 yards = 3.1 yards =
24 h Is h 2
107 . ours equals how many What is the value of — Of 40 7
minutes? 5
08 |Express as mixed fractions You start at (3, 2) and go 5 spaces to the
right and 2 spaces up. Which point do
16 you reach?
'y 5
19
b) ? You start at (0, 4) and go 5 space to the
right and 2 spaces up. Which point do
you reach?
22
c) 10

Pq(32)
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to4 . 3 5 | What is the ratio of the days in April
What is the value of 4 Of 187 2016 to that in February 20177

{10 Which fraction tell you how many dots are shaded

1t What is the smallest three digit Ten years ago, Randy’s age was 20 years.
number divisible by both 5 and 3? | What will be his age 13 years from now?

W2 | What is the smallest three digit Amanda is three times as old has Anna

number divisible by both 2 and 3?7 | now. What was Amanda’s age 2 years
ago if Anna is 1B vyears old now?

Amanda Anna
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113 | Find the first two common multiples | Find the first two common multiples of 4
of 2and?5 and 3

g | How many three digit numbers are How many two digit numbers are there in

there in all? atl?
s What is the area of a square box What is the perimeter of a triangular
with each side 30 cm? chocolate box with each side 40.9 cm?

& | Are the following numbers or words palindromes (YES / NO)?

8| DAD . 1 el 239,099
9 RAIN p| 43,543
o|| TOPPOT g| 43,534
ay| VANE b 101

Py Gs)
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(}\6&. number line if neC‘GSSQ{j)

ut ||
) /=—6= | g —2+4 =

b 6+5

i
2

4 —2

B

g 1+6 6+3

i

il
=

d)| =8 +6 = D 9+2
e) -3 — 6 = | K 1 -8
f|-3+1 = D 6~9 =

118 | A number is chosen at random from A number is chosen at random from 1-20.

1-30. What is the probability of What is the probability of selecting a
selecting 2a number having a ten’s humber less than 157
place digit 47

19 | A numberis chosen at random from | A number is chosen at random from 1- 20.
1-25. What is the probability of What is the probability of selecting an

selecting a multiple of 5 even number?

}20 | Anna is 9 years old. Her grandfather is 7 times Anna’s age. How old is Anna’s
grandfather?

4’..'-,igii 'az..?:‘-;s;i; 3@_5)
e

g‘ -
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' ' i 4 7 '
j2.) Tony’'s aunt is 36 years old. Tony is & L, . .
one-fourth herage. How old is Compare 5 to ? Which one is

9
Tony? greater mhj?"

122. | Solve: 36+ 8 +2-4
200 x 11.3

123 | Three friends want to be at the front of a line to buy a new game console at
' Superstore. How many different ways could the three friends line up in front of
the store?

124 What is the approximate cost of What change will you get back if you
taking a 400 mile trip if you get 25 purchase 7 bananas at $0.15 each, two
miles per gallon of gas and the gas package of gum for $0.75, and bottled
costs $1.60 per gallon? water for $1.10 if you gave the cashier S
10.

'sz@ L
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125

What is the name that describes all
four-sided figures that have
opposite sides parallel?

If the perimeter of a rectangle is 16 units
and the area is 16 sq. units, What could
be the dimensions of the rectangle (in
units)?

2.6

How many centimeters

Meters

Centimeters

13 m

8m

9m

13.89 m

A mile is 5,280 feet. How many inches are
in a mile?

127

What is the volume of a rectangular prism with length 5 cm, width 4 cm and
height 10 cm

128

Find the value for the expression:

2 +(16-4+3+6

How many meters

Kilometers | Meters

13 km

8 km

9 km

110 km

py(37)
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129 A contest began at noon one day How many numbers from 50 to 80 have a
and ended 100 minutes later. At digit ‘7’ in them?
what time did the contest end?

|30 | What is the perimeter of the shown | A contest began at noon one day and
polygon? 2 ended 840 minutes later. At what time did
the contest end?

1 ely =

£

(31 |Jane needs 51 cents to buy a chocolate bar, while Steve needs 45 cents to buy
it. Together they can buy one chocolate bar each with 2 cents remaining. How
much money do they have?

1
132 | Two different circles overlap. The area of the overlapping region is 2 of the area

1
of the smaller circle and is "gof the area of the larger circle. What is the ratio of

the area of the smaller circle to the larger circle?

g (38
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1)

Multiply

).

- [o°

Muitiply

4

8
X2

| = lon

I+ =
10 |0

6)

Q)

Solve

» means e

(30+11)— (6*5)
A

41 — 30

11

(30-11)— (6 +5)

(20+5)+3+ (2+5)

(40 -8)—3 + (2+5)

(6+8)—3+ (63+7)

(16-4)+3~ (10+2)
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4) | Divide
7) 24 G) &5 q) 713
as R= Q= R= Q= R=
5) | Divide
Q= R= Q= R= Q= R=
6) | Multiply E—
3 L 3 1 3 9 7 4 3
Pl L X q X 2
7) 5,
51 | 63| ¢3| 78 | 4
2
Xx 6 |[¥x 1 (+12 |-t 2 %X 0 | XO
] O
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